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(1) fE=EH (HA7: 1/ nd, %)
gz Hi A4 X FTTE 29MF-flikE | 284k | AEhE
1 H—2 HIX  |fAFIET109%21 [TAFIET9—30 70,000 68,600 2.0
9 W—4 WX |ERN2T H443%F 114+ [EAN2—5—15) 60,800 60,000 1.3
3 e —3 X | FnAEr3T H1118% 744+ 82,700 81,700 1.2
4 LR —6 TLFX |PERT2T B 2034% 244 [EHT2—6—10] 71,700 70,900 1.1
5 —4 X |HAHETIT H9%10 FHHET1—9—13) 40,400 40,000 1.0
5 LR —4 TR |FlhoT B4617%&9 MRk 2—5—10] 40,800 40,400 1.0
5 H—3 WX (BREHETLT H1%51 TRERET1—8—5) 52,700 52,200 1.0
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9 e —8 X |KIERT2T H808% 17 141,000 141,000 0.0
3 hde—1 g |BIRBAETZT H111% 123,000 125,000 -1.6
4 e —4 X |JIEEET LT B 5% 1 122,000 121,000 0.8
5 Hfe—14 HRX |[#E1 T H70% [$51—9—6] 117,000 117,000 0.0
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gz Hh R4 X FITTE H 20k | 284k | AdhE
1 Fye5—2 X | HOKE1T B 25%&4h TH oK@l —2—30] 535,000 545,000 -1.8
9 5 —15 X [KILST B572% 24 K1L3—1—53] 270,000 270,000 0.0
3 Hge5—1 Hgex | ETIE6ENT97 3% 34 253,000 — —
4 5 —13 RRX | FR2T H1997%1 [fk2—3—6) 244,000( 235,000 3.8
5 Hrge5—14 X |fERT206 9% 226,000 227,000 -0.4




